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A A TNRUT N—X2Thy b ouT ¥ Ered %
EPRHD 51 36 Ztk 36 I N EEENEE
& iz K % out IN GROSS HDCP NET

1|1=8 Eth (GH) 43 46 89 19. 2 69. 8
2 |FXE OBEE (2F) 50 47 97 26. 4 70. 6
3 |EEEX (=80 40 44 84 13: 2 70. 8
4 |BEfE HiE (1 3X) 44 45 89 18. 0 71.0
5 |/hvk EE (6[X) 43 46 89 18. 0 7.0
6 |HLE EF (=& 55 51 106 34. 8 7.2
7R #— (2K) 35 35 70 =1, & 7.2
8 1@ FZ (5K) 44 44 88 16. 8 T1. 2
9 |£& #8 (5K) 35 38 73 1.2 71. 8
10 |gethEEF  (EED 42 42 84 12.0 72.0
1 |EH Bt (9K) 40 50 90 18. 0 72.0
12 (A it (9KX) 43 53 96 24. 0 72.0
13 |1#E #— (4X) 42 41 83 10. 8 72. 2
14 |f@sk Bt (GH) 45 43 88 15 6 72. 4
15 M/ A EE (9X) 36 40 76 3.6 72. 4
16 | k2 &2 (1K) 47 46 93 20. 4 72. 6
17 (8 FBE (4X) 39 47 86 13 2 72. 8
18 |tk (4X) 37 42 79 6.0 73.0
19 | KB #4% (4K) 45 46 9 18. 0 73.0
20 |PH & (9X) 38 40 78 4.8 132
21 |/ FEX (6 [X) 45 39 84 10. 8 73 2
22 (/@ T|HE (9K) 43 47 90 16. 8 73 2
23 |1&mA F (10K) 47 49 96 22. 8 2
24 |'"hix FeFE (5X) 44 44 88 14. 4 73.6
25 | Hth (GH) 38 50 88 14. 4 73. 6
26 K% B (1 4[X) 43 50 93 192 73.8
27 |=HEBE & (4K) 42 39 81 L2 73. 8
28 |ZH HE (GH) 46 47 93 19. 2 73.8
29 |’ wZ (TE) 42 44 86 12. 0 74.0
30 il EBA (4K) 46 46 92 18. 0 74. 0
3N |EE Fb (2K) 93 51 110 36. 0 74. 0
32 A B (6[X) 41 45 86 12. 0 74.0
B |KEH =F (4K) 50 54 104 30. 0 74. 0
34 |HE LA (ZaED 53 50 103 28. 8 74.2
35 I1BE M- (4KX) 46 38 84 9.6 74. 4
36 (AW Ez (S8 44 40 84 9.6 74. 4
3 1% Et (1 3K) 43 47 90 15.6 74. 4
38 |BEE MHAE (3X) 38 40 78 3.6 74. 4
39 [BH #8 (4KX) 43 46 89 14. 4 74. 6
40 |HZE FHR (4KX) 48 47 95 20. 4 74. 6
41 |WF =8B (9KX) 42 41 83 8.4 74. 6
42 |Ex FB (/D 49 46 95 20. 4 74. 6
43 |#fA & (GH) 48 47 95 20. 4 74. 6
4 (WO E— (1[X) 42 47 89 14. 4 74.6
45 |FH A (6X) 48 40 88 13. 2 74. 8
46 | KE (1 1K) 45 43 88 13- 2 74. 8
47 |EA RFE (5K) 49 51 100 25. 2 74. 8
48 |FBA =X (4 X) 43 50 93 18. 0 75. 0
49 B2 BB (9X) 36 th Fi 0.0 75. 0
50 |#AfE #EZ (3 X) 36 39 Fii 0.0 i
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BiIAR  FTINRUT NR—X2ThHv b ouT T EE

EBRHD 5Bt 36 Zt 36 I N EEEEEE:
NEfZ K % uT IN GROSS HDCP NET

51 |28 B (1) 45 41 86 10. 8 75. 2
52 |FR EZ (1 1X) 43 43 86 10. 8 75. 2
53 [ATHEF (6K) 46 46 92 16. 8 75. 2
54 AT B (1 1K) 47 45 92 16. 8 75. 2
5 | EH = (4K) 41 45 86 10. 8 75. 2
b6 |I|EA HZ (6 K) 49 4? 91 15. 6 75. 4
57 |BER EfE  (4[X) 48 49 97 21.6 75. 4
8 |=atE E=F (1K) 40 45 85 0.6 75. 4
59 it E Bl (2K) 45 46 91 15. 6 75. 4
60 (8 {E5% (Z&ED) 44 40 84 8. 4 75. 6
61 B2 =B (1 1K) 49 47 96 20. 4 75. 6
62 |/h#&k 3LER (9X) 53 55 108 32. 4 75. 6
63 |<¥ B (GH) 40 44 84 8. 4 75. 6
64 |BE@ FE (9IKX) 45 44 89 13. 2 75. 8
65 [2H BE (4K) 45 44 89 13.2 75. 8
66 B BT (2K) 50 45 95 19. 2 75. 8
67 (&)IIED (4 X) 48 47 95 19. 2 75. 8
68 |/h#k Ef (2X) 45 43 88 12.0 76. 0
69 |fRE 18§ (4 X) 46 41 87 10. 8 76. 2
70 kI R (4X) 52 47 99 22. 8 76. 2
MI#HE Ex (1 1X) 48 45 93 16. 8 76. 2
72 |AfZA FH (TX) 38 36 74 -2.4 76. 4
73 #¥H &z (7X) 51 47 98 21. 6 76. 4
74 |BAEE = (Za)) 56 54 110 33. 6 76. 4
75 |=Z=@B & (GH) 46 52 98 21. 6 76. 4
76 |#FEFE (5K) 44 48 92 15. 6 76. 4
7 |&8 & (6K) 49 55 104 27. 6 76. 4
8 |ZE BRE (=80 45 47 92 15. 6 76. 4
79 |#& & (1 3[K) 57 53 110 33. 6 76. 4
80 |BkE #pk (4X) 42 50 92 15. 6 76. 4
81 |EH & (4X) 42 49 91 14. 4 76. 6
82 |'*FH ®EH= (2X) 38 47 85 8.4 76. 6
83 |EHE E#E (6[X) 51 52 103 26. 4 76. 6
84 =8 2 (41K) 46 44 90 13.2 76. 8
85 |#BA FBE (9X) h5 53 108 31.2 76. 8
86 |kH =@ (9X) 48 54 102 25. 2 76. 8
87 WA #HB— (4[X) 40 43 83 6.0 7.0
88 |K# H®E  (9X) 47 42 89 12.0 7.0
89 [MEF = (4X) 44 45 89 12. 0 7.0
90 [FH ¥ (GH) 49 46 95 18. 0 77. 0
91 (A #IE (5X) 57 56 113 36.0 77.0
92 |1ME ®EFE (4KX) 52 49 101 24. 0 77.0
93 TR EE (1 0K) 47 47 94 16. 8 77.2
94 |xH &x (1 1K) 53 53 106 28. 8 77.2
95 |*FH ®E= (GH) 37 45 82 4.8 T 2
96 [FE FE (4K) 52 48 100 22. 8 7.2
97 |#BH FTE (9RX) 42 46 88 10. 8 7.2
98 |EHAE @7 (2X) 46 53 99 21. 6 77. 4
99 |;E: D FERAE (3X) 50 55 105 27.6 77. 4
100 |SEPRERAES (1 0 49 50 99 21. 6 77. 4
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ZL—A8 : 2024%08825H B LAR—I 1.2.3.4.5.6.7.8. 9.
BEAR . 4 TNRYTF7 IN—X2Thy b ouT ¥ +E% % %
FBRHD 5t 36 Zit 36 I N ¥ 3 ¥
£z o % ouT IN GROSS HDCP NET
101 @& AE (4FX) 47 52 99 21. 6 7.4
102 (/A Bth  (4[X) 46 47 93 15. 6 7.4
103 |¥2@ XBB (=@ 48 44 92 14. 4 7.6
104 |3&E #BH (7X) 41 45 86 8. 4 77.6
105 |&% 3L (GH) 43 48 9 13. 2 7.8
106 |HE Mth  (9X) 54 55 109 3. 2 77.8
107 [/h4k Z (1 1K) 46 51 97 19. 2 7.8
108 {F@E FER3LA (GH) 51 58 109 3.2 77. 8
109 [2&R X% (ZaD) 45 51 96 18. 0 78. 0
110 |/hv#ix #5E (5X) 50 52 102 24. 0 78. 0
M || FXA (4KX) 53 48 101 22. 8 78. 2
112 [ RE  (9X) 48 53 101 22. 8 78.2
113 |&8H #B& (5X) 52 55 107 28. 8 78. 2
114 |luE &= (GH) 54 46 100 21.6 78. 4
115 | A= (5KX) 47 47 94 15. 6 78. 4
116 |FE HE (1 0X) 53 h3 106 27. 6 78. 4
"7 (BE #z (2X) 43 50 93 14. 4 78. 6
118 e & (3K) 54 44 98 19. 2 78. 8
119 [FTHRE=FEA (GH) 48 50 98 19. 2 78. 8
120 |Bt&E— (=a1) 39 47 86 7.2 78. 8
121 |EfF #BF (7TX) 49 49 98 19. 2 78. 8
122 |3 HAE (4[X) 48 43 91 12.0 79.0
123 |1 AE  (9K) 54 49 103 24. 0 79.0
124 |B& E (3X) 55 41 96 16. 8 79. 2
125 |B8 85 (GH) 43 47 90 10. 8 79. 2
126 B #E (3K) 47 42 89 9.6 79. 4
127 |[FkEB BX (1 0K) 44 45 89 9.6 79. 4
128 [NIE #®aAa (2K) 48 58 106 26. 4 79. 6
129 |58 ZEXK (6[X) 48 45 93 13.2 79. 8
130 (Bl 2 (9 K) 57 48 105 25. 2 79. 8
131 |¥¥8 BEIF (1 0X) 57 54 1M1 31.2 79. 8
132 [uE E (1K) 56 60 116 36.0 80. 0
133 (#AF HBEH (9K) 50 60 110 30.0 80. 0
134 |Bp &L (1 0K) 57 52 109 28. 8 80. 2
135 |AREFLCZ (5 X) 55 54 109 28. 8 80. 2
136 |[/MIEE (6 X) a5 55 108 27. 6 80. 4
137 |#%S 1748 (6[X) 48 54 102 21. 6 80. 4
138 /MR Ff (2K) 53 60 113 32. 4 80. 6
139 |5 ZHE  (9X) 56 61 117 36.0 81.0
140 [#S &S (6[X) 61 56 117 36. 0 81.0
141 4% B (1 3X) H8 53 111 30.0 81. 0
142 (/I 7 (4K) 57 60 17 36.0 81.0
143 |=H Bt (1 1K) 47 50 97 15.6 81. 4
144 |FRE &7 (1 X) 56 53 109 27.6 81. 4
145 |85 Kfs (7 X) 55 54 109 27. 6 81. 4
146 |f£E #28& (1K) 55 53 108 26. 4 81.6
147 |8 X— (6 [X) 47 54 101 19. 2 81. 8
148 (#& ZFEZ (1 3[KX) 50 57 107 25. 2 81. 8
149 [/h#k sa# (7 [X) 59 59 118 36.0 82. 0
150 [4#@  #FHah  (1X) 59 59 118 36.0 §2. 0
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BiEAR 4T RYT7 NR=X2Thv bk ouT ¥ %% %% %
EBRHD 5t 36 Zt 36 N I
Bz K % outT IN GROSS HDCP NET
151 | ko —if (9X) 54 46 100 18. 0 82. 0
152 |/ B (6 [X) 5 47 100 18. 0 82. 0
153 |'&& HE (6[KX) 60 58 118 36. 0 82. 0
154 |fRE8 B (7TRX) 54 52 106 24. 0 82. 0
155 |=4% BE (1K) 54 60 114 31. 2 82. 8
156 [R5 M= (ZAD) 50 58 108 20: & 82. 8
157 (& —¥% (6 [X) 60 83 113 30. 0 83. 0
158 |JIF 1788 (=@0) 56 64 120 36. 0 84. 0
159 |%6H =8 (2X) Jr 56 113 28. 8 84.2
160 |#BH Hz (4KX) 65 54 119 34. 8 84.2
161 |A —&F (4K) 53 58 11 26. 4 84. 6
162 (tB%F 184 (6 X) 62 59 121 36. 0 85. 0
163 (&= =E (6[X) 55 66 121 36. 0 85. 0
164 |AHE &HiF (6[X) 58 55 113 27. 6 85. 4
165 [EiaEF = (3K) 94 53 107 21.6 85. 4
166 |=t5 &2 (=& 54 53 107 21. 6 85. 4
167 | FH @R (6 XK) 51 48 99 13. 2 85. 8
168 [itht XXk (2[F) 65 58 123 36. 0 87. 0
169 B &#A (3X) 60 o7 17 28. 8 88. 2
170 (tEe fIZ (1 [X) 64 61 125 36. 0 89. 0
17 |F85 #8Z (6 [K) 67 09 126 36. 0 90. 0
172 | ER  (9K) 63 65 128 36. 0 92. 0
173 IR &K (2[X) 63 67 130 36. 0 94. 0
174 |FEg BKX (6 [X) 72 5H9 131 36. 0 95. 0
175 |HF2tR= (4X) 48 74 122 26. 4 95. 6
176 (B =K  (=&0) 67 65 132 36. 0 96. 0
177 | K& = (2[X) 61 71 182 36. 0 96. 0
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